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LA 200%) Siwnplily the Tollowing logic Tunctions nto the form of “som of producy

tenms",

F(W.X.Y.2) = Zm{U,I.I,H,EI,I'.E.Ijl

IOW,X,Y,2) = 3 10,01,14,15)

T 000 What data streciure is Teasible for binary search? Why?
) DilTerentinte Dinenmet Droo WW'W (world wide wely),

A 20 Deseribe the process of execating an instructivn Tor o CPU (essome (e
progrnm being execoted has been lomded)

5, 030%) Why du b computer system need compiler, Vinker, boader, and operating
system? ;

O 0200 ) Prove it every logie Dinetion can be ngplemented using HAND gate (i
every lugle funetion con be inpteasented wsing ARDY, QR aml NOT gates),
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